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. The LOQ from a laboratory for respirable dust is 100 micrograms. The occupational exposure limit is 3 mg/m’. Calculate the

required air volume to be sampled if an industrial hygienist wants to be able to report quantities as low as 10% of the exposure

limit.

A. 33 liters
B. 100 liters
C. 333 liters
D 3000 liters

_The sound of a train whistle is measured to 65 dBA at a distance of 100 feet. What is the estimated sound level for the train

engineer that is 10 feet from the whistle? ~Assume there are no obstructions between the train engineer and the whistle.
A. 65 dBA

B. 67 dBA
C. 75 dBA
D. 85 dBA

. Which pollution control technology (of those listed below) is most effective in removing arsenic from a waste water discharge?

A. Aeration

B Hydrogen peroxide
C. Jon exchange
D

Ultraviolet irradiation

. Air is moving at 1000 fpm in an 8" duct. The air moves through a transition to a 6" duct. What is the velocity pressure of the air

in the 6" duct?

A. 0.020" H,O
B. 0.197" H,O
C. 0.444" H,O
D. 1.778" H,O

. Santa Claus is an elderly worker and manager living at the North Pole. Mr. Claus spends most of the year managing a toy

manufacturing and distribution center. On December 24 of each year, he turns his focus to becoming an overnight delivery
service. He utilizes flying reindeer and an open sleigh to deliver items to children all over the planet in a single night. The
standard protocol is for Mr. Claus to land on the roof a residence and slide down through the chimney to deliver his packages to
girls and boys. Mr. Claus recently hired an industrial hygienist to provide a risk assessment related to the delivery system. The IH
has many concerns with ergonomics, fall protection and thermal stress. The TH is also concerned about airborne exposures to the
lungs of his client. What air sampling would the IH want to use to sample the breathing zone of Mr. Claus on December 247

A. Charcoal tube with a sampling pump analyzed for total VOC.

B Tenax tube with a sampling pump analyzed for phosphorous vapor.

C. Passive sampling badge for ozone.
D

PVC filter with a sampling pump analyzed for total dust.



6. Which of the following is not commonly used to prevent the spread of TB?

A. Assessment and isolation of suspect TB patients
B Negative pressure isolation rooms

C. Positive pressure isolation rooms

D N-95 respirators

7. A cooling water pump on a reactor with an exothermic reaction has failed 6 times in the past 3 years. What is the probability that

this pump would fail twice in the next 6 months?

A. 18.39%
B. 8.36%

C. 12.93%
D. 32.72%

8. In indoor warehousing operations, the preferred type of powered truck is:
A. liquefied petroleum gas trucks
B. electric trucks
C. diesel trucks
D.

gasoline trucks
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